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QUESTION 1

Given the following query:

SELECT * FROM users WHERE UID >= 500;

Which statement is correct?

A. This query limits the number of columns to display in the results.
B. This query filters results sent to the cloud.

C. This query is missing a parameter for validity.

D. This query returns all accounts found on systems.

Correct Answer: A

QUESTION 2

An organization leverages a commonly used software distribution tool to manage deployment of enterprise software and
updates. Custom rules are a suitable option to ensure the approval of files delivered by this tool.

Which other trust mechanism could the organization configure for large-scale approval of these files?
A. Windows Update

B. Trusted Distributor

C. Local Approval Mode

D. Rapid Config

Correct Answer: C

Reference: https://uit.stanford.edu/service/cbprotect/approval-mechanisms

QUESTION 3

Which ID in Endpoint Standard is associated with one specific action, involves up to three different hashes (Parent,
Process, Target), and occurs on a single device at a specific time?

A. Threat ID
B. Process ID
C. Alert ID

D. Event ID
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Correct Answer: D

QUESTION 4

A Carbon Black Cloud Endpoint Standard analyst is testing different search operator combinations. Which two queries
produce the same result? (Choose two.)

A. process_name:chrome.exe OR NOT netconn_domain:google.com
B. process_name:chrome.exe OR netconn_domain:google.com

C. process_name:chrome.exe AND NOT netconn_domain:google.com
D. process_name:chrome.exe netconn_domain:google.com

E. process_narne:chrome.exe NOT netconn_domain:google.com

Correct Answer: AE

QUESTION 5

Review the following query:

path:c:\program\ files\ \(x86\)\microsoft

How would this query input term be interpreted?
A. c:\program files x86\microsoft

B. c:rogram files (x86)icrosoft

C. c:rogramfilesx86icrosoft

D. c:\program files (x86)\microsoft

Correct Answer: D
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